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s Prfafem 4 # Fad A i 4. Which of the following strategies of
el () T"qrﬁ?_'"_f fara & teaching-learning 15 obstacle in
arar aga ¥ 7 | developing creativity ?

(1) fofddt & & = e () Help ctudents to think in flexible
e 0 ways.

(2) Fefidt &1 SifEw (@0 R % (2) Encourage students 10 take risk.
fom diefEd AT :

)J'f foafem & e fEnffEr & (3) Overcontrol students  during

sAfafagf=T &) teaching-learning.

(4) ﬁﬂlﬂﬁf F FmEEd 9 e (4) Guide students 10 be persistent and
e ¥g wFteds e T delay gratification.

5. Ao A @E TEE & Fwe # 5. Which of the following statement is

frefitan & %MW g B 7 incorrect about the continuous and
% comprehensive evaluation 2
(1) Itis school based evaluation.
(2) It includes all aspects of students.
(3) Diagnostic evaluation is not
included in it.

(4) Both formal and informal
techniques are used for it.
6. Which of the following is a significant
fact about the development 2
() Tt does not follow a predictable
pattern.
@ Itﬁﬂ pmdunt ﬂfﬂu mﬁﬂﬁ 0{



(5] (€]
7, fafEs § f e e dfe | 7. Which of the following I not W
l ‘ s armetetie I';‘.i-i-.ul-.-untng_n-ni+.'Iulul"
o & A8 %7 characteristic
|y ofEd @ ST aaggEaE # (1) Sufters inadequacy o basie
( : 7 _
AT 3 el ' pecessities of life.

ﬂ(m ﬁ?ﬂﬁﬁﬁ%mﬁmw (2) Provide (he basic and universal
ﬂﬂ'ﬁﬂ. right.

(@3) Wl s auenat # TR (3) Risk of future |1H:-.*::hn~4:du-:t-.ti.mm'l
(@) | problems.

(&) wod @mEs W 3 fwm & (4) Denied the opportunity 10 grow
aﬁ‘ﬂﬂ { dfem_ T normally at his/her own rate,

o. @ awm W Rl 0 Prdveen  (rerT) 8. A child who is high and low in a
{aﬁ' WW ¥ gea ot characteristic  (such as anxiety  or
F=t 3_' = ﬁmﬁ A ‘ﬂ o T F sociability) will remain so at later ages.
e ¥ 9 g P 3 e A AW This statement  stresses on  the

S - imawrmnee of :

@ Hﬁradlmry and environment
%ﬁ*} Maturation

9, %‘_.dﬁmaim of development such as
- physical, cognitive,  social  and
_,._’..ﬁ':.'ﬁﬁ_tijﬂ_nai are developed in which one
of the following process ?

istis Cﬂy

P.T.0
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10. Pysifeferer 9 @ el agramifea fagie 0. Which of the following behavioygy
(™) w=fr & sfvdfter wmere A Characteristic is not  related to
LA T ' motivated behaviour of

individual ?
(1 ®hte (2) it (@) () Energized (2) Directed
(3) gem (4) wewer (s (3) Separated (4) Sg_ﬂginﬁd

M. when & sy, s ot & ot o 1. According to Chomsky, an inng
St s o weg @ MRe damR capacity to acquire language is A
P GRS U war sifkda s B, result of our uniquely human biologie
F Feg ¥ inheritance, is called ;

(1) W STfpes A (1) Language Adaptation Degree
(2) W7 SO wee (2) Language Acquisition Device
(3) 991 W& gen (3) Language Acceptance Desire
(4) 9T At e (e (4) Language Acquire Domain
12. Flsed & T AR P AfS 12, According to Kohlberg which lmf of
R 3 A9 § &1 A a8 3o qelt moral development of a child shows n
T () i ad internalization of moral values and
A B AN TS B | moral reasoning of the child
qreRR o 28 A FrfEg wg ¥ controlled by external m anc
punishment ?
«1) \la{qm—{pm (1) Praqgnvenhaual
(2) TP
C o (3) IETE
(4) T S R

18. W R wgR Frefafen & Qs
Wﬁaﬁmﬁmaﬁrﬂ _
(1) TBF & & & e
& 2
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14, sommeta 2 .

: ' R
% fmw 3 P she L2ipe 3 Pt
wok A B
(1) Aosi=n (deryeeye

S e ;lm e
(2) #HEiem AT

A R RS s

(3) #fEm g
P

HARem s Rty
. 3 i
% Frem ar ae ¥ B

5. fpafefer & A Pm-mr
e (FrEtes) e 8 R
g o A Am Rk
(1) wg=Tad

14,

15.

(€]

Which of the following statement 12
and

correct about the continuous

¥
ation ol leamer

% called

comprehensive evalu

(1 Summative assessment

is called

(2) Summative assessment

informal assessment
Summative assessment is durng
the instructional procedure.

Summative assessment emphasise
difficulties  of

(4)

on diagnosing

students.

Out of the following which tool is nef
seems to be appropriate for formative
assessment 7

(1) Quizzes

(2) Criterion Referenced Test



1€
7. sfew 3w Faffrdl
iﬁ;ﬂﬁﬁ}mﬁ@@@%:
’
A st & e s 3 WA
Eal
ﬂ)m%m e O Fd
i SR

(&) mﬁmm 2 T W T

(8]

17 Characteristic of social constructivist

approach of learning 18 -
(1) Emphasis on child's cognition for
learning.
(2) Emphasis o0 pmcentng of
information for learning.
e M i

collabora




|71

»

2) foe O WEIC @ E LERH™
(ufimn) B

(3) P e Sfed @1 HEEEY
(#2) B

(4). fory afr s arEraia g
P

21. mwen womE A Pt # & @
ug afefore 77 8 7
(S a1 T S
(2) ﬂﬁwaﬂ%rﬁﬂhm

{a} mm@@mm

-:4J aﬁmﬁa‘:

22. sfertall @1 afym Rfasme @
gﬁi%mmﬂﬂ_ﬂhﬂm
(w}a?s*ﬁnaa_ﬁ_'_%?

P e @ el a1 W@ o

aryanaJobs,

16

20. Which of the ol

fncorrect ahoul thinking 7

(1} Thinking LIRen I
langun g

(27 Thinking Is & lorm of inlormaeti
processing

(3) Thinking 15 the set ol cognitive
rocess

(4) Thinking and language e

unrelated,

21. Which of the following step s mor
included in problem solving 7
(1) Accumulation of data
(2) Formulating hypothesis

(3) Verilication and making
generilization

{4] Rupundlng to the stimulus

22, To meet the individual diflerences of
learners which of the following step is
not required 7

(1) Individual's assessed

accurately

palisation of instruction

abilities

ptification of socio-economic

P. Y0
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(10} |
1€ M | 93, The term 'iTWl'll'-""*““ BTG '-'*-‘-'-1u11~.nﬁl a
PR 1T Lo pild with specia! need in the regular
i 1" H:= R s W Eﬂm (=Y classroom for :
o 3 v T2 (1) Some time

e 3
w3 v B WY . |
o (2) Most of the ume

(2) Sfewis T & fare .
(3) Full imeé

/L»@E“ﬂﬁm - O (4) During social activities in the
A fif-qm 3 w : school
e G Multiple
et By 9 BB her?
\ AR ftad MR (1) Howard Gardner
@) swe fR (2) Alfred Binet
(3) $o To IS (3) E. L. Thorndike '
I.ﬂw Sij:ﬁ Guilford :
HANaNRaJI00S .10 sy e s
T B
- s 28R b) () It is exuinsic and ‘due 1o
l | @ = s=im k d dHE o (2}*_:“;?;?-&: _mf' deprivation.
\| | T 3 & rt naﬂnus a;::md dm:m
EJ 3 . (3) Itis extrinsic and due to emotional

disturbance.

l It is intrinsic and due to mental
.m.lﬂat_ig_n_ ' '




g, W w0 e sfem & SRS 27.

1€l

The highest level of learning in the
hierarchy proposed by Gagne 15 :

(1) Problem Solving Learning

(2) Principle Learning

(3) Concept Learning

(4) Skill Learning

Which one of the following situation of
learning is not based on child centered
education ?

(1) Problem based
(2) Discovery
(3) Guided discovery

(4) Demonstration \
iR .

(1) Law of Readiness .
(2) Law of Multiple Respon




[12]
a - 11/ PART = Il
a (fe o 390 / LANGUAGES (HIND! & ENGLISH)
[ &= / HINDI ]

Podir : Py el @ ae & 3 fr R ﬂ il s AR —pp = 5

1 ¢

an. i w0 et ad B a5. qﬁmﬂﬂﬁﬁﬁﬁmw
(1) g A an ug F TEATHE TR
(1) HEEEES
(3) B A
2) TEIETE
(3) qu _ %
(@) froma @ = 7= R f
(4) Fe=TETEH
92, ‘e’ qe # war
) e 3a.§rjﬁ%mﬁaﬁqﬁaﬁmﬂmqa?
(2) mges {ﬁ ERkeed
(3), FHATE
(2 "ETH
HaryanaJobs. iy
33, arft fmw= ° ' g fameEe 2 (4) Ferar-fdm
Y € & m‘ﬁi et
pn L . . 37. tﬂ“T =T ' F I :
p TR
(2) woEA \
q'ﬁ. ™
(3) lﬁﬁsﬂr
(4) ﬁm’tar

M fr= # & e fowes oA
. M EW R i m

b '- -ﬁ W .



el A 8 @ A& AN
(1) wEarEs T
(2) TS F
(3) @faE a5
(4) ST
, Rl & e e g T

42. UFEHE (RO O 9 ©
Wm%mﬁmm1
[z)aﬂﬁaﬁgm?}ﬁn
(3) 7&a 3 wrd B T
(4) ¥ Foeh @ 9@ foer

43, g &R @f‘ﬂg’ﬁw 3%5
(1) goae B
o S
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[14]

[ S5 / ENGLISH ]

Directio
n: . ; ;
—T0n : Answer the Jollowing questions by selecring the most appropriate opfion

46. Fill in the blank space with correct

adverb in the following sentence

The soldiers fought ...........
(1) Partly

(2) Luckily

(3 Bravely

(4) Clearly

47. Fill in the blank with the correcl

option :
The milk .......
(2) “Ti}]bcltﬁ:.nin.g
(3) had tum

(4). 1s tum

48. Identify the word with a different Sound

represented by the underlined letter at

the initial level in one of the following

words : aik

(1) Chest

(2) Cheap

/(3} Qtr:hl

(4) Chin
Level-1/3101

|

|
!

-
il

49. What are the positive and comparaive

degrees of the adjective "Best

(1) Ciood, Benter
2y Ok, Good
(3) Better, Good

(4) Best, Best

50. Choose the correct form of the veto
"Read” in the following sentence -

51. Fill in the blank with appropriate me

o




52

l:q in'.l:.ﬂ' 2 "u""}!“ £ . -
i1} Criticize

(2) W orship

(3) Favour

(4) lgnore

Choose the correct option for the
underlined phrase :

The doctor told her to carey on with
lhfé Lrediment.

- - l_' 4 -:'
Hakyan:

(2) Delay

(1) Swp

{4) Postpone

Fill in the blank space with correct
adjective in the following sentence :

He didn't make ...........
{)l' Many
(2) Good

(3) Much

(4) Most .

(18]

55. Which one

1€l

of these options has the

words armanged in proper onder 1o form

a correct senience 7

(1} Lies the / wears o / UNCASY head

that / crown

(2) Uneasy / lies the head / that wears

A crowm
i

(3) A crown / lies the / uncasy / head |

that wears

/ uncasy / a crown / that

w,&é: ad

wears / lies the.

56. Fill in the blank with the cerrect

option :




| €] [16]

§7. Identify the conjuction in the following

sertence from the options given below :
Answor the first question before you

proceed further
(1Y First

(1 Refore

(1) Further

(4} Procesd

§8  Choose the cerrect past tense of the

verb "Pring”

(1) Brought

Hakyanadobs

) Buying

L

(4) Broughted

59. Fill in the blank space with cerrect

article in the following sentence

My brother i8 if ..o indian

army.
(1) a
(2) an

—43) the
(4) zero article
§0. Choose the carrect preposition from the,
given options in the folle i
septence : - _ i
Th’au i‘.ﬂ a lﬁbﬂl 1un-u--‘--ni¢ m % .

}.‘l} on
" (@) in g
= I n{.‘d at o
(4) into




[C)
W=/ paRT
T St
e A, F g o
APTITUDE, REASONng aell T g QUANTITATIVE
TR ABILIT?ANDGK&
. frriforieer 5o B g 39 g T o - & AWARENESS |
. Answer the - FT gl
pir ff'f"f"i ‘i _quu er i n_e__,ri_mnumg Yuestiony by selec cting ¢ ;.iu Ejju appropriate opi
- fean
lﬁﬂihllmmﬂ{m 5
61 ’ g -_“t. Ty ! 1. The value of 666 + 6+ 3 is equal 1o :
&
3 2) 11
(1) 37 (2) 117 (1) 37 2y 111
P 333 (4) 38 (3) 333 (4) 38
!
(4) 56
3) 52 56, 117 ,?, B ]

o pmry W@ﬂéﬁ

445, 221, mt:: 46, z; L4 gj;—

iy =i ;

b
(1) 221 ‘,(2‘]' 46 I':‘f:L
(3) 109 (4) 25 %

. o
) Si I-'iﬂlhe wrong term in the following
“ Series :

445,221, 109, 46,25, 11,4
(2) 46
(4) 25

26
(1) 221

(3) 109

W, P 3 @ e Bt R GA R




1€

- L “nﬁ_ﬂ .:-‘:‘I-ﬂ “f. |I."*:I ."T]’"n Fq

wt & i X, o B & Gwww A | decreased by 20%, then its ared I8
e —— : . y
bl b B ! decreased by
s - L3+

(1) 8% (2) 16% - I (1) 8% 2) 16%

-

= |
(3) 36% (&) 20% IR (1) 36% (4) 20%

i

| 65. If the sude of an equilateral triangle is

66. "t & N W W Wb - 66. Find the next term of the series :
2 Q_B_ 24, 60, 120257 \s 0, 6, 24, 60, 120,?
gt (180 s ‘207 (1) 180 @) 210
vy 0 (3 216 (4) 240 \© (3) 216 (4) 240
[ ._: f"I
67. 'X' 3 Y W ﬂ “R‘ a}Tgfrr L 67. 'X' and 'Y' are brothers. 'B' is the
'Y o@ oo BB, X' ® R FER daughter of "A". 'A' is wife of 'Y". What
wrafer 2 7 ,1.. is the relation of B’ 10'X" 7
1) [I} Sister-in-Law
Hakyapz) =160 i
(3) g 4 (3) Daughter
(4) =®A (4) Sister
‘["u"u [{_n|,p.3- 'Fr-“?ﬂf;f . .
68. 4% "PURE' & FE @& ‘QVQD" T 68, In a certain code, 'PURE' is writlen a§
“COPE a1 5 7= oD Forar e B, ‘QVQD’ and 'COPE' is written a8
A 'WHEN' 1 7 = B : 'DPOD, then "WHEN' is written as ©
33351 tg“ql-;[f& b % .
(1) XIFO ‘)( | (1 f' "
(2) XDIM
4 XIDM
g
() XIMD
: £
Level-1/3101

gt !
= B




4 8
i 8 3
] o
7 9 %
3 B .4 un B
[3) =<=<£= . 5
5 9 7 ] -
‘-'.?_ = i
4 3 B } “1 Lty
h*{{’ - - e ¢ i
7°8 5 " 8
:.1 r"‘r
70. ardTE WA fifao
(1) 99 (2) T%
63 a4 {4y @i

M. GG YA CR bt @Ryt
™ 2 B, B, D & =, Fﬁ%ﬁi’# 5

mmi,ﬁfﬁﬁnﬁ%mm

A qr B 7 L)
ﬁ
(1) C 2) B C‘J

(3) D 1 E

T2 W Dmreaai
§: e .

A
16
(3) e

Level-1/3101

119

(RS

69. Which of the following is correct ”

2
(1) —-r:‘-x

i
4
£ | o

(]
e A
A
o | oe

LR

| L
M

oD | o
1| &=

{4)

=1 | &=
A
|

70. Find the odd one :
(1) Mercury

éJ) Sun
\

(2) Venus

(4) Saturn

Imc friends, A scores more run than

C but less than D, B scores more than D

but less than
maximum runs ?

e
LE " -5';'1" -
- el

L

E. Who scores the
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[20]

* 2 cd i
s 79, A train 18 moving With @ SP€
; i l \ d in metre py
79, g Terd) 180 rpdE : e =
REE) ST foperT ; i
Er“! F l‘ﬁ Fchﬂ ‘TH i {G \fg Eecand @
¥ 1 1y T,
1407 2 & (1) 50m/see
(1) 50 deyaFTs e j”g
Ji‘g 1; (2) 40 m/sec
(2) 40 HrevHFE"S g0 2
& (3) 30 misec
(1) 30 FrevdETs i
O & (4) 25 misec
(4) 25 MEUAFE 0 | .i
74. If 1sxidxx=m,thnnx tsequalg.
74, AR ,haxmu_aat?l,a“txm*ta: . Bxldxx r.;
;/ (2) 24
W (2) 24 | ¥ (1) 22 )
32 (3) 28 @) 32
(4)

S 1IN
1C JO0025 + ¥2.25 &t b ol ‘!5! !Jﬂ.ﬂﬂls ++42.25 isequalto @
75, OBO25+ 2.2 :

A
1.50
(1) 1.55 (2) 1.50 iA\q (1) 1.55 (2)

A (
&~ _
(3) 0.155 (4) 15.5 ‘;ﬂ o /Uﬁ (3) 0.155 (4) 155

76, @ A A @ 36 W A FE R )7 78\ fehdol bus
dr fr o ged B0 AR aF P
e ww g fom 3 oire ¥, &

(1) @

O ci

Level-1/3101



78,

79.

1cl

gNE raNRl 9
w1 [E] : [Ef) i1 then the value

e 27
B
of xis :
(11 iy 1
(2) 2 @) 2
(3) 4 ) 4
(4) 3 4) 3
At 5 AiFfE A1 & "pul ta nop” # 78. In a certain code language, "pul ta nop"
¥ "fruit is good”, "nop ko tir" & a7d means "fruit is good", "nop ko tir"
"tree is tall" T4 "pul ho sop" W a1 means "tree is tall" and "pul ho sop"
"eat _'355:-3) food" &, @ fruit 9= F Iq means "eat good food". Which of the
wrar 8 @ ard 2w 7 following does mean fruit in that
language ?
(1) pul
(1) pul .
2
‘HMaryanadabsin
(3) nop
(4) ta (4) ta
v & oz i d, o O ok A T 79. Ina row of trees, a tree is at 11th place ’
g & 11F w o ¥ e ol AR A i the dow fom eI R
6% T wt B A o A g R 88 |
%7 g
(1) 25
@ 26
(3) 27
(4) 28



A

[C]
80. qﬁa.bﬁzaﬁmta&f&.c& 10

mt.mu+b+c=13ﬁﬂ,ﬂ
(b+¢)-a® TF 8¢

(1) 28 2 32

(3) 34 (4) 44

81. Priffes # A F-a g 7 ¥ 7

(1) vs@w S - e
(2) YT A - oA
(3) HewE T - =
(4) T & —FHA

1y e
(2) e 2FE

©(3) e

(4) Pt

122]

80.

81.

Hahmﬂmmnbhyimda'
greater than ¢ by 10and @ + & +c=
llﬂ,tbenwiunof{b*w]-nh:- '

(1) 28 @) 32
{3}I34 @) 44
Which of the ﬁnltm.@], s

matched ?

(1) Badkhal Lake - Faridal
(2) Khalilpur Lake - G '

(3) Chandlai Lake — Jhaj
(4) Karan Lakg_.m



(1) 0%

R @
(3) dF

(4) 3t

(1) 73
(3) 49
 Level-1/3101
AR
R :ﬂ. .

Haryanradops i

|C]

Bd4. Who is known as Haryana Kesari 9

(1) Sir Chhotu Ram
(2) Lala Lajpat Rai
(3) Pt, Neki Ram

(4) Lala Murlidhar

Who was the leader of the revolution of
1857 in Panipat ?

(1) Imam Ali Kalander

(2) Akbar Ali

(3) Bisarat Ali

(4) Sadruddin

ny wildlife sanctuaries are there

in Panchkula district 7

(1) One

(2) Two




[P —

»H:@J Ma E?#aé @ﬂb‘sn.ui Jabutify the group, of which al :'

cities are associated with Met

sgor @ 2001 & s sfrae 4y e
worett i B

(17 K41 e
(2) 22.62%
(1) 44 59%

() 19.59%

wrern werrt arard fagafaren vt
ko

(1) ofaren P &

(2) arfoe frd #

(3) s fret 7

(4) weme Frad #

W&iﬂﬂﬁﬁfﬂﬁﬁﬁﬁ:
(1) e, wherEm of

{EIW.WHG?{TW m i

&

(241

8. The decadal pop
Haryana for the
(1) 2843%
(2) 22.62%
(3) 44.59%

(4) 19.9%

Maharana Pratap

University is situated in:

(1) Ambala Distriet
}}) Sonipat Distriet
(3) Gurugram District
(4) Karnal District

ulation growth of
period of 2001-2011 18

Hﬂ G ::...

-

&
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WP~ IV / PART - IV

T / MATHEMATICS
ey ¢ e .
;Jfrrrrian s Answ Wf ’ :ﬁ? ¥ & fry R afem e gl
pederker S Answer | u_"M’.’Ei‘i‘-‘f_____fmmby selecting the most appropriafe option, B e
i U fm TS df, R o1, Wil e  vikm of W@
5 - 321—5 =225 51._31 32:;_3 =225 :
3 (2) 5 (1) 3 @) 5
3.9 (4) 7 (3) 6 (4) 7

92, ﬂﬁaambiﬁqﬁfrqm&g & a

T b W oA S dEe @ Bmoam

92. If both a and b are rational numbers,

find the values of @ and b in the

o : following equalities :
%%wﬁ %:n—rbﬁ

) e=-Lb=2 (1) a=-1,b=2

HaryanaJobs.i3-:

@) a=2,b=-1 3) a=2,b=-1

(4) a=-2,b=1 4) a=-2,b=1

« 7  f TE/SPACE FOR ROUGH WORK







5. 30, 17. 1 19, 18, 40 & afeaw pm
wifam
(1) 34.5
{2) 30
}J.} 39
(4) 43 c{f], |

96. T ks & Rt #oAw 16 ¥
am;ua}ﬁlkrmﬂﬁﬂmmﬂﬁﬁm:

(1) 63.5 &

slady anadJo!

(3) 68 & éj que G

(4) 702 ¥k ,-
7 & firg o

127)

95.

[C]

Find the median of 30, 17, 43, ¥,

(1) 34.5
(2) 30

(3) 39

(4) 43

The diagonals of a rhombus measure
16 cm and 30 em. Find its perimeter ;

(1) 63.5¢cm

DS ke

(3) 68 cm :




| C)

97. WH AU 18 Fo ufy =i 1 =X @
Uee wrdien & oqur g8 20% e & AT
ﬁ%ﬂ&mhﬁﬂmmgﬁm
i

(1) 1.50 %0
(2) 1.80%0
(3) 2.50 %o

(4) 2.60 %o

98. fHet smraR @9 & At ot A w
F @& 750 o ofy e @ oaw @
600 %o B & | AR gEe e 24 Hho
2, o e ded g 9t

HaﬂryanaJob-s.lm,%

(2) 16.8 o
(3) 2040

(4) 20.8 o

Level-113101

[28]

98.

97.

A shopkecper bought some pencils
Rs. 18 a dozen and sold them =

profit of 20%. Find the selling price px
pencil :

(1) Rs.1.50
(2) Rs. 1.80

(3) Rs.2.50

(4) Rs. 2.60

The cost of fencing a rectan gula .f-_.
at Rs. 7.50 per metre is Rs. Gﬂﬂ
lengﬂnszilm,ﬁdiﬂm



0. T By o dvww A d
3

N3 2
AT “=a o 1 -*iinisq_m
() 24° =t g () 2a* sq. units
(3) V34 7t = (3) 3 a® sq. units

J3

(4) Taz = 5

100. x=1

it y=2, HAE
a’x+ay=3 T @ W/, A o T W

Ll 100.

R i ] )
HaryanaJobs.i

(2) a=1,2

(3) a=-3,2

(4) a=-1,-2

89. The area of an equilateral triangle is :

(4) %g-u! Sq. units

[C]

If x=1}, y=2 is a solution of the
equation a2x+a}r=r3, then find the

values of a ;

H a=1,-3

(2) a=1,2

(3) a=-3,2
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1
oz ;—+l=a.t=?r .rHF F HF TG
X

Hifos -

105.

(1) 36
(2) 30
(3) 34

(4) 32

wF qfar #, A B B 10% S % -
T AR E e B A Cd 15% S
3% o Bg B A # C ¥ e sifae

wferarer @i e T 7

(1) 25%

106.

(2) 26 %

(3) 23

3

4) 282%
(4) 285%

105.

HaryanaJobs

.——-l'
#

if x+1=6, then find x* +—
x X

(1) 36

(2) 30 \x"

3) 34;{/ /y«*?

(4) 32

In an exgminatmn, A gets 10% more
marks than B and B gets 15% more

marks than C. How much percent m
does A getthanC?

106.

(1) 25%

@ za%%




107.

109.

108.

107. 36 men can build a wall 140 m long in

140 Ho werd aF dET @ 36 I,

21 B 3 o 3@ X o aE @ 21 days, in how many days would 15

50 fto 7= FEl d@E @ 15 A men be able 1o construct a similar wall
e BT & & &7 7 50 m long 7 \Y
\ U
(1) 20 (2) 22®= (1) 20 days (2) 22 days %
(3) 225 ,J'ﬂ' 18 = (3) 22.5 days (4) 18 days 9;&\
\ /5
212°F B By S # R - 108. Write 212°F in Celsius scale : \ 4
7
(1) 424°C (2) 106°C _j’g- {1] 424°C (2) 106°C
(3) 112°C (4) 100°C &\'ﬂ‘y& ;—-';wo (3) 112°C (4) 100°C
";éf; A0

109. Mnnas father is thrice as old as Mona.

Ha |rya, ﬁ(ﬁ @ L 1EF] 2 years, his age will be twice that;i

m%ﬁm%ﬁ%wﬂ*ﬁl ,3 of his daughter. Find t 7‘-\’"{'“

r{- C]Monn M

A7 & @A g I B
1) 36ad @) 247 '{3) C (1) 36years () 2Ayeas |
(1) 0 /1 - ‘e,&”
(3) 128 (4 1874 (3) 12 years _
% & 3R

(g X 3 )






(1)
(2) 20.8 TR
(3) 15899

4y 18391

143. 13872 e 30 Fve A 6 7 L4
| et Byt

2 guz | fyeE 10 89S

2 goe 15 e 10 9998

2 gu2 10 fe 15 8998

2 gu2 12 FFe 20 8978

@ & H',

112,

113.1

1<l

The ratio of Copper and Zine in an alloy
is 5 : 3. 11 the weight of Copper in the
alloy is 30.5 grams, then find the weight

of Zine in the alloy :
(1) 2054

(2) 208 g

fad

) 158¢

183

Divide 13 hours 1 minute 30 seconds
byl

(1) 2 hours | minute 10 seconds

(2) 2 hours 15 minutes 10 seconds

(3) 2 hours 10 minutes 15 seconds
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118,

L S
i { £ T, T ot
2 ST E1 U g mt 33 I]
HIs 4= " 3.3 W men
- : fﬁ! h M aarh i
W i bl
(1) 7.5%
(2) 724
(3) 825
(4) 8.4
17. F=ias &1 Prge ffm

(x" — 6xy + 9y")—25 :
fl;#*iiﬁﬂa n a \J :7.,
(2) (x-y-5)(x—y+5)

(3) (x+3y+5)x-3y-3)

(4) (x=3y—5)(x=3y+3)

137
|
|

\

|
|

1€

118, Length of a room I8 i : Limes .:t;
breadih, | s height be 1.3 m @n
volume be 122 : m.', {inud the lengih ol
ihe rodm
(1y 7.5m
(2) 7.2m
(1) B2m

(4) B.4m
117. Factorize the following

(x — 6xy+ ‘.J_vl} - 25

'H}a e —5)(x +3)

2) (x-y-=5)x-y+3)
(3) (x+3y+3)(x— Iv—35)

(4) (x=3y=3) (x = 3p+5)

4% f TW/SPACE FORROUGH WORK
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118,

119,

120.

e = =
'EQIﬂ%WSFG%ﬂmaﬁﬁ_ﬁ |

T 600 e
00 37" i & a1 6 50 B 5

oM & !
% § g 2w B @O
|

e S i

{l-’ HT'F[ ‘44,#':'
27 = 44%

() mra 22%.  (4) = 22%

e :
3 a@:‘ﬁﬁ: afed &, o gAd: 15,
%lacir&]t % sty O ST HE
Wﬁzﬁm gEE 10 T 0F g
bl bl
(1) gaE 10: 4573
(2) §9% 10: 50 T3
(3) g9% 11: 1539

(4) ﬂ?-l't?”gﬁ

(1) 58.8

() 60.8 (1) 58.8
A
(4) 622 @) 622

[381]

1 -
\
| 120, IWL‘M value of J36.1x 1024

1% 1054 (51 4 T B o

ight 600 mangoes at b
ld at 5 for Rs. 6. Find

it seller hot

118. A B
5 and 50

for Rs.
the profit of loss

(1 Profit 44% (2) Loss 44%

(3) Profit 9905  (4) LosS 22%

re are three clocks which
chime at intervals © of 15, 20 and 30 °
minutes respectively. They all chime -
together at 10 a. m. Al what time will
they all chime together again ?

(1) 10: 45 a, m.

(2) 10: 502, O

(3 11: 15a. m,

(4) 11am.

119. In a shop. the

ACE FOR ROUGH WORK
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A B e wen 2y e @ W D
ﬁﬁﬂﬁ%éﬁi&w‘

(1) g

(2) +m

£3) aned

(4) ®Erery
122. 7o o9 LR ([ ]

(1) 9E=T 92 o oy i
gEe A ot den R

(2) #q  gEfve Pl wae o
mtate W e Nel g b |

UL LR

BT FNACA N @R

"‘:r"r "i’f q _q,,- ﬁ

(4) Frgmees 4 v gl @ an o
Cr i L L

oA Hi UM, AT W

123. "BF& ofrefem AN afrafer 0 B
afare TR 'rrfﬁwf'ﬂm FLL

= Z57 3
([) S

=7 23 £ B s e

_‘_‘—~—\_.___\_\_ (3 o :Ilr‘ & - 2 .
O o R o T TS VAR
121, :+ ;

PART = N
ToETT SWOE / ENVIRONMENTAL STUOWS

P

TS %

N AT g ey

Pkl VEay

1281 e ik wWibshRy S LR

R E RIS
II|'| Ky iasag
\ L L
R L
(Ay dsluka

(88, Meloul e (Reirrs alehi el

(1) Pivwer petiol ine @ ibialviet dtiie

Ty LT (LA ALLA LAY petinl

(3 b fotpardint 18 W iensue l
L b | R IS e FHTIIliHHﬂ i“l N

||||1|1'|'|I-1

@ F 1 foreatit iy aid) witeatation are
M twi terime deed Tot the e

AR L

iy The corteet sequence of b foug
lnyere  of  abmosphere e
| tposphete, Shintonphere,
Mesosphere — and Tonosphete

(Botiom to Top)
123, The lil"l# L m unigue
e loeation” i«



TV

[C]

124,

125,

126.

7 v @ a4 # Smedd I
foq v mren @ R G

%
.
2

(1) i g

(2) ey et gafETer QRN
_3) ange B Rag g

(4) Fresi g

Feiifteer # o W e g F o
(1) Beiiferag

(2) FEwE =

(3) e

(4) FMfEFs

T #, e 06 o o= W

' - . |

[ 40

ok

Government

jgnificant contribution in

diife prutr:ciiun i85

124. The gward ipstituted by the

of India for &
the field of wil

(1) Gargl puruskar

(2) Indira Gandhi Paryavaran Puruskar
(3) Amrita [Devi Bishnoi Award

(4) Pn yadarshini Award

125. The metal found in Chlorophyll is :
(1) Magnesium
(2) Cobalt
(3) Iron
(4) Nickel
126. The World Heritage site of India

% i ricated in more than one State is :
D . ) Valley of Flowers National Park

(2) Mountain Railways of India
(3) Sundarban National P




128. m@wﬁmw .
Cas i g

(1) 73, ST, T
(2) TTETA, g9, AT
(3) ST, 399, T
(4) T, e, 59

129. qrEIfTE HE WG FOUH TWEO B

(1) == i

(2) gardE e

(3) #re T

@ et FH

130.

i E v

| 41|

128.

128.

1€l
The correct sequence of shortest 1o
longest wavelength s |

(1) Visible, Infrared, Ultraviolet
(2) Ultraviolet, Visible, Infrored
(3) Infrared, Visible, U ltraviolet

(4) Ultraviolet, Infrared, Visible

An example of conventional source of
energy is

(1) Tidal Energy

(2) Geothermal Energy
(3) Solar Energy

(4) Nuclear Energy

k;;lia:y%ztﬁ a@ el of which of the following
argHEEE W%W@S T‘sﬂcumpnncm increases in the

atmosphere because ﬂf&ﬂwq
(1) Carbon-di-oxide
(2) Ozone

by
<
R

(3) wmm 5_.,
(4) Oxyge 0 =

L -



AVAES

1 C
|
132.

AT TREN U g
W E oy e R

(1) STirEvs

(2) Eftam

(3) Rl

(4y FT

133. T @t A H AT " e FeE

X

Yy @ S
(2) @ Fegh

(3) Fgwur = faafye
(4) it @

134. @giEie & d=g # §8 F99 Tl T97
Ha| xmﬂgt
7.8% 2 |
(2) &t ew # ouftam SEE IEd
A B
y it gudT R sEeiET &
‘ Ao e #r 24
(4) Sl @EEm qew A AR
7 1 A A gfs @ #

[42]

o “Timate
India's first State 10 release a ¢

Change Action plan 18 ¢

132.

(1) Uttarakhand
{2} Haryana
(3) Delhi
(4) Kerala
133, Complex interlinked food chains 0
called :
(1) Food Web
(2) Food Network
(3) Pyramid of Biomass
(4) Trophic level
134. Select the correct statement  about

DS. N |
- llrlm percentage of ozone in our

atmosphere is 7.8% .

(2) Tropospheric ozone is “pood
ozone", j

(3) Ozone absorbs ultraviolet rays and
form oxygen.

(4) Ozone increases ﬂlﬁm i
;l;lﬂrﬂ-ﬂumhm. in the

135. 1992 & Ru%

"y|~‘




|

(43 ] ﬂ
- I 168 i Hl '1h'|'l I
136. HERTEE afry o gy wyeer: T y38, ‘The J——) areen h.'“m .:“”"
._1-1’{'-?51?‘{"]' Irej |-I-'r1 _:i';rrsiq (”'isl | wm 11“"11“ ,;11 "“""h 1y TR |
o . | ' I t‘l'-L‘I1'Ilr1'|I.HIIIIl
5 ST T s (1 Ainible light Iy the pimnaphere
I e the
I'.:'}l ?m‘!,”fhtﬁ! BT g [q‘[q-hi.ﬂ ._-l‘ ‘.-1’ |IITILI “-ll.l r“-ll"“l.””h hy
| pumosphere
(1) Ultrasvinlet riys by the ground
by the

(3) e mry wodd gt @
(4) arpavse 7w e R @
137. fr=fefere ®f @ 9 ofy o @) o9
gl b 7
(1) Froare gt
(2) = adard
(3) w@agd A g e
(4) agw A
i o

138, ST & S

Bretrged i s g i O,
t e | = . & : &

& i b
(1) s

(2) W ot

(3) grgfivs

(4) wwiifen urghs R (CNG)
Creatofegy @ @) dm e S

139.

P v
(1) Wty {IJ i
(%) Ao, : ﬁ? , j

140, g G e B i
(1 # "
I e B
() Wosepmy o
(A) Mgy 1o "

Lo /80 P

filra]

(4) Ultra-violet puclintions
atmosphere
137, Which ol the {ollowing does not deplete
the water table at a place 7
(1) Seanty rainfall
(2) Inereasing snowlall
(3) Increasing number of tube-wells

(4) Increasing deforestation

138. Which of the following gas is produced
the anaerobic fermentation of

| Iy

DS shis?
(1) Biogas
(27 Gas Oil

(3) Natural Gas
(4) Compressed Natural Gas (CNG)
e o 1% ._ ls not a




1€l

141.

(4) FEF-2E- TR
SiaHEE, LSEG CGN

142. ﬁﬂﬁf@ﬁﬂﬂqﬁq@@;rmgg
ﬁ" TR ?

' b b3

(2) F H A F '

(3) oferdt & o Er-ar T

gas '7' causing respi‘-'m
[dentify "X, "Y' and 'Z' ¢

(1) Oxygen; E

mono-oxide;
(2) Carbon-di-

oxide; 2 :
(3) Carbon- Haemogl- Oxygen

mono-oxide;  obin;



\Cl

@
(1) . Cole : ¥
@ A, B(v), Ca), D, Egi) 1y AGY), B(Y), C) DA (i)
=) Ali). BAii), C(if), D(v), E(iv) ) AdQ). B, CGb, D E(iv)
f:;” h{ili!,ﬂ[’i‘r}. C{\"]. DH]. E{ii_] l]'J n“"'] l'lu'l,j L{\."‘i D{I} I{l”
(4) A(v), B(i), C(iii), D(ii), E(iv) (4) A(v), BO) Ciiii), DG EGv)
144, Frefafae
P AR A s R 144, Which of the following is mot & Walet
r 7
; borne diseise ?
1
) ¥ (1) Cholera
2) EETIEE ;
¥ = (2) Typhoid
3 w
() 1 (3) Hepatitis
(%) Ty (4) Tuberculosis
1“5 el
TN G N B A 145. Select the incorrect pair !
1y #t=fErd aEerET i
et Rord -1 TS, (1) Nilgiri Biosphere Reserve — Tamil
e FTeE
| p S Nadu, Kerala and Karnataki
b |
2y M&MJ C) b ST.I Mk Biosphere Reserve ~
Mizoram
(3) Fermefturer ardregiay frod - sifdem ;
(3) Simlipal Biosphere Reserve —
(4) e gt R - 3 Odisha
v Reserve —

V:”. T _'.. ll Wh

L
B

146. R quhﬂﬂ!m_ | . _
g forld Environment Day



| €|

=

147, s qued & awes &
i m';,:;(ﬂ'
AYe

148.

149,

g’l‘;ﬁﬂmﬁ § B dw R
) ww

(2) dras awr

(3) W—E'I'E{-rmzﬁgﬁg

(4) fteRi=

Preaffem # & 99 6 8 offes
e w7 = wEE B 7

(1) @

| 46 ]

DS.I

[ following i mot prody

147. Which of » i dccnn‘llﬂusilimn of -.1rﬂmhl

in soil durin
matter 7

(1 Water
(2) Nutrients

(3) Curbumdimxidﬂ

(4) Oxygen

148. Which of the following belong 1o mong

than one lruph_ig_lsl’-ﬂ" ?
(1) Snake
(2) Grasshopper
(3) Planktons
(4) Man
149, The 'A’ coloured bins are used to dump
biodegradable solid waste while the

yélable left-over are to be dumped in
coloured bins. Identify 'A' and 'B':




